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Sl MEMy )] HFate (&)
= _ — d =
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A 2k XA Dt 48,612,126 27,067,411 21,544,715
2 7,365,060
J| 38,510
< 5,455,840
Al 35,752,716
HOI2 H™col 2el 47,789,557 26,097,554 21,692,003
2 7,315,060
J| 38,510
= 5,443,140
Al 34,992,847
MM HE B 19,459,590 16,926,752 2,532,838
2 472,560
J| 38,510
= 271,140
Al 18,677,380
QIZIQIEAIS (MEHIIE =T 28) 16,976,482 16,242,945 733,537
101 @124 dl 70,282 14,525 55,757
04 JIZHHZ2Z2XNESE S+ 70,282 14,525 55,757
OLHAZSEAI 28 L BX 70,282
>llEs 46,7003 *321 250 35,025
D a0z 11,680,000& 14 11,680
PEsd 46,7003 «301x52 7,286
PN, 46,7003 «32110 1,401
>SAld 2 nsSH| 1,200, 000& *3¢! 3,600
DEER 6,370,000 » 14! 6,370
DEIXNHZ HE3 4,920,000 14! 4,920
201 L2l 65,440 68,820 A 3,380
01 At 22l 12,240 14,620 A 2,380
O1 eet=ZHl 10,000
DMREYIIE0I & 2eliE 22
10,000, 000& * 14 10,000
03 2g+g 2,240
DEAASSE R ARE HALY
70,000 821 x4 3] 2,240
02 =224l 53,200 54,200 A 1,000
O1 223232 2 HA 5,200
DLHAZ HALS(NSUHN S 3323)
2,000,000& =2CH 4,000
Dot AN (ASIUHAM & B2222)
1,200,000 »1CH 1,200
O4 Xtgd el 48,000
DLEHAZD LAY SAH(RFSUH,EHSXA
gl) 20,000, 000& =2CH 40,000
Dt FAxe SAL(SFU,ZFHIKAL)
8,000,000 = 1CH 8,000
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207 Ao H| 20,000 19,000 1,000
01 289 20,000 19,000 1,000
OFLUHEAMOIZHA MEHIIE) BIIES
10,000, 000& 14! 10,000
OMEEINsHIIS =T S2°MA HE JAItet
3 29 10,000, 000& 14! 10,000
307 glz2tol & 16,820,760 16,140,600 680, 160
05 RIZHRI &3 16,820,760 16, 140,600 680, 160
OFAMPAH(IZHA)
5,700,000,000& 14! 5,700,000
OUEHIIZS /A& Xel 9 72,0002 +5,400& 388,800
O 29 1,095,000,000& 14 1,095,000
OZEH M&HII=S =& - 2829
88,000 +3,600=+12& 3,801,600
OoMag Jts Hil2 =828
2,400,360,000& 14! 2,400,360
OUEHIIE 48 - 2 (BB
280,000, 0003 =14 280,000
ORHYX HIIES =& - 28 Y
40,000,000& =14 40,000
OSASRHIIS 48 - SY s (=)
160,000& *750=+12& 1,440,000
OSASRHIIS 48 - 2¥ls(Zs5e)
1,555,000,000& 14 1,555,000
O34a2 d8HE) ME2YYI
10,000, 000& 122 120,000
SEM AASE M & 22 492,560 437,000 55,560
201 Let249] 91,520 4,400 87,120
01 At 22/l 87,120 0 87,120
O1 gt=2Hl 87,120
DERH 25 AT 242
220,000,000 *3.3%*12& 87,120
02 =224l 4,400 4,400 0
O3 A&l Xl 4,400
DEHHAZISE HIDREANLE RRAES
1,100,000& x4 2] 4,400
206 M= Hl 401,040 432,600 A 31,560
01 MHZ 4l 401,040 432,600 A 31,560
OMIl SSHMARASE HE(MHAIS, LBHE 1
0f ) 36:& *800,0000K 28,800
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0¢ ) 56 *1,600,0000H 89,600
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OMY D SHHAHEE M (L 222 10
0¢ ) 2112 %540, 0000H4 113,940
ELRAZE O M Z(50L )
4202 *30,0000H 12,600
OELRAZE O M ZE (1004 )
5002 =30, 0000H 15,000
oMY SR EE2E M (SAES 31 2 4
=) 312 %400, 0000H 12,400
OMeE= 0t & =2 HMA (1004 )
4502 130, 0000H 58,500
HIIE2 RSEI] 24X 381,471 215,907 165,564
101 Q121 H| 46,841 0 46,841
04 JI2ZtHIZ2 2 NEE S 46,841 0 46,841
OMEMHIIZE RFHE)D| SEHH 46,841
= 46,7002 x201 %250 23,350
> A 2 3,895,000& »20! 7,790
DESY 46,7003 291 52! 4,857
DAXE 46,700 #2021 %10 934
>aald ¥ WS 1,200,000& %x20! 2,400
= = 4,230,000 =14l 4,230
DEXMNAZ HEg = 3,280,000 14! 3,280
201 et 61,050 62,327 N1,277
01 AR 22l ] 11,100 12,650 A 1,550
O1 Btx==H| 9,400
DMY D RHED 42 S0 A
0,000 *504 2,500
DAY I SHED X AT M
100, 000& 504 5,000
> MY I RHED SR HEY 7Y
300 «500Z dl 150
DHIISEAN =2 350,000& 521 1,750
O4 1]1=24| 200
DEAZEI HH= 100, 000& 20! 200
O Xt 1,500
DE=YHIHEH =2 &0 =24 dx=
500,000& *33] 1,500
02 324 H| 49,950 49,677 273
O1 2222 2 HA 22,950
DMYIRHED SEXE USAA S 22
= 750,000 = 1CH 750
DMYI RHE) SEE SUHE 22
50,000& ~12& 600
DM RHED] Z2AIHH2 EIIRS
25,000 x3001 2~ «12& 9,000
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O3 A& &Hl |4l 21,000
DMY D RHHED] 2AIH0H 2 S22l
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O4 X - ABHH| 6,000
DMY D PHED S4EXHRAL(SEH, A
Hl S X4l) 6,000,000 ~1CH 6,000
202 o4 | 10,080 10,080 0
01 2Ll 10,080 10,080 0
OMEMHIIZ 28 Xel L HEaAgsE AEEH
840,000 x12& 10,080
206 M = Hl 8,000 8,000 0
01 X2 H| 8,000 8,000 0
OSRUSHSA AFHLAALY %FE 2ol (LHA
Jer=ET) 200,000 x50 4~ 8 8,000
303 ZA& 2 5,500 5,500 0
01 LAZ 5,500 5,500 0
OMRZ2 AIM 24 S0is ZA3 5,500
DX SHS 800,000 *20H £ 1,600
D24 SHS 700,000 *304 & 2,100
D&Y S8HS 600,000 *30H £ 1,800
307 212t0| ™ 230,000 130,000 100,000
02 QIZ2tZ A X 230,000 130,000 100,000
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3 30,000,000& x14! 30,000
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200,000,000 14! 200,000
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9,000,000 *2CH 18,000
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01 JHMY 2 E F S H 2,000 0 2,000
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OMYD|l BSHED AlDIEZAZ 100,000 128 1,200
o188 A9 M ADEAZ 30,0003 +128 360
LSEY0IE HelkE At 226,400 28,800 197,600




DM ETHA

M HOIE2 HMel 2
?l MMy I HY a2l

SN - EAEA) - MRAL

01
o

Off &t 24

=

i
2

= Hn W

92,560
3,000
130,840

)
e
s
=

= Hn

20,000
10,000
3,000
7,000

20,000

04 DItNZ22XsSE*

OsdiolE A== AHHEAMN ARY
0

20,000, 000& * 1Al

=z N H

20,000

20,000
10,000
3,000
7,000

20,000

403 XX EHH S K=

oA

H

Al

206,400

82,560
123,840

177,600

Ofl Ch st

n =
=) =)
O=£dl0IE

CH & AFS HI

HelXd A
2,400,000 865

= N

206,400

206,400

82,560
123,840

177,600

RFIDDI B SEHM 84

o
Iz
@
S|
e
[
>
[>
0z
4
i

= N H

1,338,327
380,000
266,000
692,327

1,338,327

71,660

71,660

DESM 22 €& 210 27,000,000 14!

D>RFIDDIBH B R ==HZEHl COMAOIE Dt dl

30,0003 »262CH
9 MZ 50,0003 *500H £

RS
14,300, 0003 » 14!

/\l‘:'ME-||j| 7|—

o
= e, aE
0,

00,000& 14!

51,660
51,660

7,860
2,500

14,300
27,000
20,000
20,000

20,000

51,660

20,000

401 AIEHIZ 2 I

= N W

1,266,667
380,000
266,000
620,667

1,266,667

01 A& Hl

ORFIDII 8t
ANAg 3

=
=]
=
=

SR

]3]

Sxe SASMY Dl 2el

1,266,667,000& 14!

o

1,266,667

1,266,667

380,000
266,000

1,266,667




SN HETE D
X HolE Xel 2

el MEMYD HFae (S &2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| Al 620,667
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< 2,140
Al 2,140
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< 2,140
Al 2,140
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< 5,172,000
Al 16,060,655
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201 Let24E] 26,800 67,800 A 41,000
02 2324l 26,800 26,800 0
O1 3322 ¢ HA 1,800
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O3 A€ &Hl |XlHl 25,000
DSASHESAE A2 L UKL (HS
564m I H 50&) 20,000,000 » 14! 20,000
PREMIIE ABBeIA A L FHISKL
(2 159m ZAY F) 5,000,000 1Al 5,000
202 odl 2,880 2,880 0
01 = LH o4 1l 2,880 2,880 0
OsalSHaAlE 2288 & XN
240,000& 128 2,880
307 glz2tol & 2,181,900 2,564,040 A 382,140
05 RIZt2E = 2,181,900 2,564,040 A 382,140
OSAMEXNAS S3HelAlE o2& 29 |(
CHE=8) 72,000& 900E 128 777,600
OSASLRA(SHE) 4 - 28]
300,000& x365 109,500
OsAlSX&s oIzt Helthd At l(
SSTH) 83,000& *1,300E+12& 1,294,800
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= 846,000
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Al 1,321,000
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Al 1,321,000
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< 3,164,000
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< 3,164,000
Al 7,382,667
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< 3,164,000
Al 7,382,667
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= 12,500
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6,000,000 3= 18,000
OZ2sFY HWEgs 22 82210 4%
10,000, 000& *2JH A~ 20,000
MEEIIsHIIS 22 HE B3 51,300 63,600 A 12,300
206 M = Hl 51,300 63,600 A 12,300
01 X2 4| 51,300 63,600 A 12,300
OQHEZESE A2 +HE(s=2)
300,000 *304 9,000
OHEZS 38 100, 000& 504 5,000
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OBESF HAXK 218 7
30,0002 40074 12,000
Od==e s42 2d+1871(3,50 )
5,000& *30074 1,500
OLESAH SAS BE2HEDI(10,20¢ )
11,0002 30074 3,300
Hesg Sis fe 22 21,512 21,512 0
201 LB-2dH| 8,272 8,272 0
02 3322l 8,272 8,272 0
O1 8322 % HAl 772
DUMEE HRFL U AUSkA & SR
= 772,000 x 14! 772
O4 xt& - det] 7,500
DIHEE ARFMN NHEFAH(HHRFH,
Ul Xdl) 7,500,000& *1CH 7,500
202 O4dl 3,840 3,840 0
01 = LH YI 3,840 3,840 0
OMEEJsHII=S ZelthE =& =& 04l
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307 21201 A 9,400 9,400 0
05 BIZHRI & 3 9,400 9,400 0
OHYZSE 259U (F-3t4)
500,000& =183l 9,000
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100,000& x4 3] 400
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= 50,000
< 12,700
Al 410,055
OrSCt2 3t&4a JtRJ| 416,320 448,110 A 31,790
= 50,000
< 12,700
Al 353,620
== ¥ 2013 &EA |X2e 245,720 270,110 A 24,390
201 Let24E] 31,320 27,360 3,960
01 At 22l 18,720 16,560 2,160
O1 Let==&H| 18,720
DIESEA HERLY(2YANE 2 250HL)
60,0003 *260H A x 122 18,720
02 3322l 12,600 10,800 1,800
O1 3322 ¥ HA 12,600
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DEEFFAEI, E L2 (I AL 2
602 ) 150,000 700 A %123 12,600
307 glz2+ol & 194,400 222,750 A 28,350
05 RIZt2E = 194,400 222,750 A 28,350
O3F & 20lat&4a A It 194,400
>BENTA HA 0129
13,5003 *300L 2601 2~ 105,300
>2HOISH A HA DIRPE
3,000& 300 x990 A~ 89,100
401 AIEHI L 201 20,000 20,000 0
01 A& HI 20,000 20,000 0
O35 % 20lat&EA E4(12501 )
20,000,000& =14l 20,000
gelstEs 29 20,000 20,000 0
201 L2l 20,000 20,000 0
01 At 22l 20,000 20,000 0
O1 eet=ZHl 20,000
DIESEA X HOYSE FL(BEHES
g) 20,000,000& =14 20,000
HPolsstEA-ER (nH) 10,000 28,000 A 18,000
401 AIEHIZL 2 CHEI 10,000 28,000 218,000
01 A& HI 10,000 28,000 A 18,000
OO0l=s4! 2t0l3t &4 Wi 5,000,000& 2= 10,000
SSHEY i & Zeldl XA 40,600 0 40,600
< 12,700
Al 27,900
201 £B-2%H| 4,500 0 4,500
< 1,350
Al 3,150
01 At 22l 4,500 0 4,500
OERHSNA S ot&Ea BY2F N2
4,500, 0003 =14 4,500
< 1,350
Al 3,150
307 gl2+tol & 3,500 0 3,500
< 1,050
Al 2,450
02 flZtFNE X 3,500 0 3,500
OE2HENA S ot&E BHYE2F N2
3,500,000& =14 3,500
< 1,050
Al 2,450
401 Al HI K 201 I 32,600 0 32,600
< 10,300
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Al 22,300
01 Al& H| 32,600 0 32,600
OEZH FHA S S&EA AIE WM
30,000,000 x1A! 30,000
= 9,000
Al 21,000
OZ2= &4 LEDS WA 1,000,000 14! 1,000
< 500
Al 500
OZ2ZSHEA AI2EHQ SHHAMEIA AX
1,600,000 14! 1,600
< 800
Al 800
2Z5&A 2 HAUANL(ELE)EX 100,000 0 100,000
2 50,000
Al 50,000
AEH Y200 100,000 0 100,000
= 50,000
Al 50,000
01 A& H| 100,000 0 100,000
OZZ3EA S BAANE(EST) &
100,000,000 * 14! 100,000
2 50,000
Al 50,000
JNQIGHEXH 2l AlE 22 56,435 169, 200 N 112,765
HelatE=H el AlE 22l 56,435 19,935 36,500
201 et 9| 14,595 16,015 A 1,420
01 AR 22l ] 1,632 2,148 A516
O1 gergt| 1,632
DIOHOIGHEHRIAE +EAA £+
8,600& 104 ~12& 1,032
DNEEZ2 ESMIE 50,000& x12& 600
02 23244 12,963 13,867 A 904
O1 222 2 HA 6,963
DONCIBIE=HMEIAIE EA S S e S
280& x1,800H 122 6,048
DONCIGtE=H2IAIE RIS EERE S IHA
s 2323 915,000 = 1CH 915
O4 Rz, Hdetd] 6,000
DIjelatE=HelAld RESS IS AH (S
20, ¥ 8 KXH]) 6,000,000 ~1CH 6,000
202 04d| 5,840 3,920 1,920
01 2L I 5,840 3,920 1,920
OeIdtE=XelAld RNESHE
20,0003 »8L %201 x12& 3,840
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OYFAZTZA 22 2HH(EE2HEA
o) 50,000 *403| 2,000
207 A RO 2| 36,000 0 36,000
01 g gy 36,000 0 36,000
OJMNEMSE MEt+d NE M
36,000,000& » 14! 36,000
HeEs(MEXA) 239,000 239,000 0
HEAHH X & (X2 239,000 239,000 0
HWEAHHX S (NS EFH XA =) 239,000 239,000 0
702 013HES 239,000 239,000 0
M II2dE3 239,000 239,000 0
ONEE FHISIS I8 (MEH)
16,500& *70,000= 10/ 100 115,500
O E FHISXS JI=224(HHEH)
24,700 *50,000& 10/ 100 123,500
HE2AZH (MR 110,814 113,547 A2,733
el 2| 58,485 55,739 2,746
olA2AY| (MEIADL) 58,485 55,739 2,746
101 14l 58,485 55,739 2,746
01 2= 58,485 55,739 2,746
OAZA22Y 8,476 2321 %x300A| 2t 58,485
Jl23&dl 52,329 57,808 25,479
ISl (X&) 52,329 57,808 A5,479
201 Let24E] 24,689 28,248 A 3,559
01 At 22l 20,441 24,048 A 3,607
O1 et=2Hl 14,645
DEM2IFEHI 14,645,000& 14 14,645
O5 =&l 5,796
DOt 522 R 7,000 232133 x12& 5,796
02 2324l 4,248 4,200 48
O1 2323232 2 HA 4,248
DRERS 1,770& %2,400AH 4,248
202 Oddl 23,440 25,360 A 1,920
01 = LH o4 1l 23,440 25,360 A 1,920
OJlegf+=d0tl 23,440,000& » 14! 23,440
203 YR =& 4,200 4,200 0
04 EA2IYRFLH| 4,200 4,200 0
ORN2IEYEF=AHI 350,000 »12& 4,200




